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TR <E% 1EULERE>
6L |Fevs| KER | S EFL (P | [|EZR| FC |(YDS| EH| TD
1 T Bfg| 83 [/NE #H 2 13 0] 113 8.7 0
2 T SRR 11 |&#k &X 4 10 2 48 |1 6.0 0
3 T BRA XK 22 | &R 4 1 2 52 1 5.8 0
4 T X 82 |HL WE 2 8 4 191 4.8 0
5 T BiAX 10 [EX #E 4 9 1 321 4.0 0
5 T BEFEX 17 |BH 4% 4 9 3 241 4.0 0
T <E# 1BEIXREBRE>
L [Frvy| KREH | FS EF4 & | [E%| FC [ YDS| EH| TD
1 T Bl 37 |8k #Zzh 2 1 0 22 122.0 0
2 T SRR 5 |[FH E 4 1 0 19 [19.0 0
3 T BEFEX 9 O EXKER 2 5 1 46 1 11.5 0
4 T BiEH 23 [kHF X 3 1 0 10 [10.0 0
5 T SRR 25 |&lL BEF 1 2 1 81| 8.0 0
6 T e E PN 8 O ([ElE JFKER 2 3 0 22 7.3 0
6 T BiAX 9 |lug [EE 2 3 0 221 1.3 0
8 T K 46 |E@E BF 3 1 0 71170 0
9 T IHK 1 |98 K& 3 2 0 13| 6.5 0
10 T MK 2 |} X 3 5 2 121 4.0 0
1 T SRR 26 |FH B 3 4 0 121 3.0 0
1 T gk 24 |tkBE IEH 4 1 0 31 3.0 0
13 T BRAX 7 |E& =N 3 2 0 41 2.0 0
14 T e E PN 27 |&fA M2 3 1 0 11 1.0 0
15 T BiAX 15 |85 # 4 3 2 41 0.0 0
15 T ISMHK 6 |EEZE & 2 2 1 0] 0.0 0
15 T SRR 13 [lUAR T|AER 4 1 0 0] 0.0 0
15 T e E PN 11 |BW ok 4 1 0 0] 0.0 0
15 T BigA 3 |WF K 3 1 0 0] 0.0 0
15 T BEFEX 2 |tkEE SliE 3 1 0 0] 0.0 0
15 T BEFEX 23 |®A =K 3 1 0 0] 0.0 0
22 T X 4 |tkEE R 4 2 0 -41-2.0 0




